AVF-1
PROVISIONAL ANSWER KEY

Name of The Post Additional Assistant Engineer (Electrical), Class-3
Advertisement No 98/2020-21

Preliminary Test Held On 25.07-2021

Que. No. 001-200 (General Studies & Gujarati + English)
Publish Date 26-07-2021

Last Date to Send Suggestion (S) 02-08 -2021

Instructions / ¥dell (Physical Submission)

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] AW, Bouell ditl-YUsl i) 539 12VlLd] tla
aqiel «&l
(1) GALdR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 sd il 2ER.

(2) GUEdR UHUHI ditl-YUell 2% 5L A1 U URite AAd [ddd ditil-yUst UnASell
oiYsile] % GUALL 5.

(3) GALdR Uldlal UlatHi HAd YUY RASIHI 9UIAE URSHIS Yoo ditl-YUst] 22 ol 5cll dHIH
digl-yUell AU U Uit 6AG Yl[dreld w12 S (HIReR UBUA)sll Usl SHIS Yool Wl d
Aeelui 0 s2dl.

(4) U1 USUA Ui A2 ust a [Asey [Ad el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dit] 2% 536 & el [Asey U % % lod YUdd B 2 %clod GHedR
Uldlefl GrRad&lui wUd eld) a5, GAed R YUAd dlod el GrdRdElell asallod (¢3t &2l dl
GHed IR 2% 539 ditl-YUst LdleiH AR oAl

(6) W5 WS HI2 WS % ditl-YUel Uas dlUG, A5 % didl-YUet UAsHI 158l aaR usllel 22q41d
539 &2l dl A 2etl ditll-¥yAell il Ad Q) «i&l.

(7) U3lewHl sloR ¥A GAEAR % citl - YUot 9y 53| A5 .
(8) GRAeal? clul-YUol A& Wclloll scuataglell aisct @sial scusdl 234
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001.

002.

003.

004.

005.

006.

=N,

ALY, 86101, BN RN AU HAA Sl dal MRl 200 24 SLAHT d 2200 58 U €9 A+l
A2 WS 56 A wioy Al ?

(A) sil&gan - G uga (B) @iy - 9aud
(€) RRig - B (D) 1218 - A%

Y oY

990l HUfl 2d e 83l ARAALL AU 247 SLAHE 2UAE AL [Brecuiia dlou {d dlisal.

QU el

1. 3y a. AR

2. dlad b. YRR

3. AR, Al-uade C. YHELAE

4. QUsUA, SUHRL d. Aesie
A)l-b,2-c¢,3-d,4-a B)1l-c2-d,3-a,4-b
©)1-d,2-a,3-b,4-c (D)1-a,2-b,3-c,4-d

ERECTERTIMER R LT DR TN ECTRI RV E RE A ERTE IO R 4
(A) o, o1, 95 i AlR ASL AR 2400 AS ALl .

(B) Wlougl ugdl 231 4R1adl by yaefl Alell ws 8.

(C) ciet 301 HRAAL 241 lieg AlALARERL HRLAL A HL 69,

(D) AlR {3n-Al Alefl Hicl 21 79 GuAS YRl AS Y3 9.

1A WAL s arsul oy €9 ?

1. susell 2[R MR- &9 oKL addl asu 8.

2. Brr-u uddly uga-u 6 cuar 69,

3. [Bauan 24 =131 uddirl s1|wu 69,

4. Briquuidl Alsndl 1l A1zl 211 dui Hord) Aglziiq siug) G- Heldl oida €.
(A) 1,2, 324008, (B) 55 1, 2 ¢ 3 U19U 89,

(C) $5d 1, 2 211 4 912y 89, (D))s5d 2, 3 211 4 912y 89,

AU Benrt 1 AoiBd Au-l A2 UL 56 A ulow ) ?

(A) 5181220 - 20014 (B) 9 2w - Agun
(C) viiglyR - suies (D) e[2ou - Henax
A sl AsRAl

1. MR- HEyuidl “s597’ (23°.30° 6. AN&ALT) UAIR A 69,

2. GURArL UMLRL AMA-l v 82° 30° yd miagT &9 (six) AULHil uAR A 6.

3. GuRarl [z 32,8 @t Al (3.4 8, 244 ¢ ydd oloudHE HisL 2217 ¥RAd €9,
(A) 1,22 342U 89, (B)55d 1 24 3ulou 69,

(C) $5d 121 2 Uidu 89, (D) $5d 2 211 3 UIdU 89,
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007.  cuRdHi %l UsRl ouoid AL ouoid 565 ouotdl qiou €9 ?
1. siurll ol 24 10l o3l
2. Al Al 244 ugvus o4l
3. uddlu o3l 244 20 usR ol
4.1, 2 2 3 4l stadl oidl o -,
(A) $5d 1 a1y €9, (B) $5d 2 012U 89,
(C) 543Ul 89, (D)s5d 4 uidu 69,

008.  -llaivil sl ASRAL:
1. %M, 2010 AL A% MIRd 154 A-A~ (census) A3 $AUHL 244 8d.
2. 2011+ AU Yosor Al ay adlay) AzU Griuea 6 27 Alell A0 ardl Rssluui ©.

N

3. 4o 1 [2¢d) kel arn? ardl 4Riad1L 42l ad 8.

A~

(A))1, 2 211 3 cusul Aieu 69, (B) $5c 1 %A1 2 LSl U1 89,
(C) $5d 2 211 3 LUl iU 69, (D) $5d 1 211 3 cusul Uidu €9,

009.  ~flA- cusul ASIRAL :
1. 330 A5 2N (Sex ratio) A AHAL € (Literacy rate)Hi 2AHi AAUR 69,
2. 3oR1aul Al 8d-i 308, AsA 20U 919 244 A18RAL €2 78.03% 8.
(A) HIAL UM ALSY ALY 6, (B) Mot 6lof cus uldu €9,
(C)mam vir 6l bid causul Aoy 6. (D) naH 211 6fl9f vid asal uloy .

010.  idRRAE1U 8 HAS A dril a0 {3l A2l UL 56 ALl ulou el ?
(A) 12 YHING 61 AidRAA s HAS - slasTil
(B) svflotigal vAidrANU s Has - g3
(C) 2ui-Ba-2uau (Sheikh-ul-Alam) 2AldR2AE1A sl Has - 4R
(D) S-€l1 i) iU g Has - You$

NLn

011.  ¢d it 2 drll A3l HASA dUsal.

Aed R ag HAUS
1. yalnR it (North Eastern) a. slastl
2. ydlaR Aluia (North East Frontier) b. vie810UE
3. e[&1 3¢d (Southern Railway) C. QUMY
4. Bk u 3¢d (North Central Railway) d. dusiél
(A)1-b,2-¢,3-d,4-a (B)1-a,2-b 3-c 4-d
€ 1-c,2-d,3-a,4-b (D)1-d,2-a,3-b,4-c

[AVF-1] [PT.O. n
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012.

013.

014.

015.

016.

017.

auRd-L PuRHasl (hill station) 244 A%l A2 WA 56 AL qlou €9 ?

1. wriell - BHiaa usa

2. ANQHIRL - BriRwvis

3. daidl (Tawang) - A3RUAL UL

4. sdlvuldt (Kalimpong) - WfEu sidun

5. 921215 (Gangtok) - 2M

6. §1 (Coorg) - 2l

(A) $5d 2,3, 424 5 412U €9, (B)s5d 1,2, 33 4 012y 89,
(C) 543, 4,521 6 UidU 69, (D) $5d.1,2, 3211 6 Ul 69,

@Al 21 RdrAl AlsHAZY A USIR 8 2 20 N drflarugui alsu-ioq v 53 wean Guaidl € ?
(A) 1a2él (B) zaidl

(€©) 52 (D) usisun

YIEl (Surando) 2 Als-uui Guala aiel (Musical Instrument) L [ARaRHE atR Gualami A
209 €9 ?

(A) sioL-+u8al (B) 529

(C) 2NR-Anu-u (D) 2acy[A g1R51

N

WAl 22ULAS 24 AL A 2490 A3 5L sl

OIEE N

1. agfllaenn udu a. M

2. A4 Al b. AAHELUE

3. luHL H8d C. A3l

4. 218l &3l ala d. wewt
(A)1-a,2-b,3-c,4-d (B)1-d,2-a,3-b,4-c
€©1-c,2-d,3-a,4-b (D)1-b,2-c¢,3-d,4-a

“YUSIFILAL GIRL RAAML U 51me38 UG Ui 58 loldidl Gedw sl 2uda € ?
(A) HSIMIR AL MA2U (B) Raci(sa
(C) dr amusl WS a2l (D) AcBELHL o1 BuR ALS

«d aizllaL (Bird watching) a5t 20l i1 2ieiBd @ecuii-l A WA 56 A dioy -l ?
(A) 4l avua (Thol Lake) - HELAIE

(B) e13L, Ww2dl - YRr401R

(€)dvuag: dana ws (Velavadar National Park) - -io1é

(D) @rviiet avua (Lakhota Lake) - HAR

[AVF-1]
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018.  cudri =l 2auc (Ancient Architecture) i 58 utaldaAi-l aruda 2 € ?
1. 8wWA $4L (Harappan Art)
2. WA sa1 (Mauryan Art)
3.9\ 54l (Gupta Art)
4. By S-flun sa (South Indian Art)
5. ldi-2AH el (Neo Roman Art)
(A)ssa 1,2, 3214 (B) $5d.2,3, 4 % 5
(C)$5d1,2, 4915 (D)1,2,3,4¥45

019.  GURAL Hel RAs1R 21 dviil Rasid (US+E1o1) iy dd sl

1. ueq A aul a. I8Ny (Mahishasura)
2. w3l AR AMa b. 431 A& (Young girls)
3. ol . A, c. Agddl (Shakuntala)

4. 3l dutt Hedl d. Alg (Saurashtra)
(A)1-d,2-a,3-¢c,4-b (B)1-b,2-d,3-a,4-c
(€©1-c,2-b,3-d,4-a (D)1-a,2-¢,3-b,4-d

020.  HElR A drit 220 231l A2 WS 5 A2l ulou & ?
(A) eidl-ua 22 (Badrinath Temple) - GrRivis
(B) [Bieg#uz (22 (Brihadeeswara Temple) - dile-ig
(C) 120l [a-ua #l2: (Kashi Vishwanath Temple) - Griuesl
(D) o1l #leR (Khajuraho Temple) - H8I1R1

021.  GURArL 6it (Dam) 2 Aoi[Ad 1€l A8 WA 56 Adl2AL a0y 8 ?
1. dgl (Tehri) 3H - cuellRell
2. [3g3 (Hirakud) 34 - H8inel
3. s (Kallanai) 3 - $143)
4. Nasan (Srisailam) 31 - Y-
5. 6515 (Ukai) 3u - 1l
(A)$5d 1,315 (B)ssd 1,213
(C)s5d 1,301 4 (D) $5d 1,415

022. Yyl At AeilAd Al A2 UL 56 A2 dlou ) ?
(A) gleiia Aaz efles (Dibang River Bridge) - 2438144 Ug2l
(B) viigt-azdl 0l dls (Bandra-Worli Sea Link) - #8118,
(C) 1t 2uiH) Ad - G uew
(D) d¥urs 24 el (Vembanad Rail Bridge) - 31

[AVF-1] [PT.O. B
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023.

024.

025.

026.

027.

=

gt Wl My (Waterfall) i 22014 A3l

1. 921 aie? sid (Gira waterfall) a. Asie

2. MR aie? sid (Chimer waterfall) b. 3flauust
3. sl aie? sid (Zarwani waterfall) C. U218

4. 441 Al2r 514 (Naldha waterfall) d. Ayl

(A)1-c,2-b,3-a,4-d
€©1-d,2-¢c,3-b,4-a

(B)1-b,2-a,3-d,4-c
(D)1-a,2-d,3-c,4-b

(312 Ml Avis 214 Al glaiedl A2 WA 5 oAdl ulow Al ?

(A) 2UR. 5. L (R. K. Narayan) - HiedLél 39 (Malgudi Days)

(B)1ucs 1% ui-ie (Mulk Raj Anand) - €1¢l § «ii2 $12 (Delhi is Not Far)
(C) vadd Ale (Khushwant Singh) - 4l a2 a6t (The Sunset Club)

(D) u-li8R WAl (Manohar Malgonkar) - 2w §+ {42 (Spy in Amber)

(&€l Auisl 241 lazti-l A4

1. %AUAS HALE - st

2. A1 R (2152 - AR
3. AlAclarR td - GURA MR

4. YRouden vd - REnL
(A)1, 2,321 4
(C) 852,321 4

“adl e i diudl o uil as;

U4l 58 Adl

-

Loy ¢9 ?

(B) $5d 1,2 ¢ 3
(D) $5d 1,321 4

Yl llarfl vuelA eidl ud o dl €65 7 - yalawmial
GuRsd “ldsu’’ steu-dl Ulsasiqu dus sia e ?

(A) HIR1 4214
(C) Guais: ol

Al duisl 2 duti-l glaziiA Asl.

Avis
1 Mg (@, wss
2. Ag st o8l
3. HgleisR €d

4. 4~1ALE uSd
A)1l-d,2-b,3-3,4-cC
(C)1-a,2-d,3-b,4-c

(B) 1[B12i52 212 Mz
(D) 5151 S1AASR

sla

a. o waa

b. dlalax, 2usR

c. wilen @a, wiidlHl ;s

d. egdfiom, Q@Az[a812
B)l-b,2-a,3-¢c,4-d
(D)1-c¢,2-a,3-d,4-b

[AVF-1]
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028.

029.

030.

031.

032.

033.

034.

035.

036.

3416 (Dalhousie)A -l WS suL A%AL vIAAL S Sl ?
1. AdIRA 2. AlGAYR 3. 10YR 4. 5180 5. sl

(A)$5d 1,315 (B) $5d 1, 3 ¢ 4

(€)s5d 1,291 3 (D)1,2,3,4¥45

MRAHL B2 S22 Sl3ar su-l gzl Anam waiouas Qiel 2[aus Al .......... w1 ...
A3 $AHL 20dd 8dl.

(A))sas5TL A SIAUS 8L61R ((SREIEEEREIT

(C) Ho1s 2A aus (D) {o1s 21 il

A1 WS 59 A dlou el ?

(Al s s Ras - ist daa sd

(B) Migud A dlaL - -uiu uesi2 il

(C) 35571 viopysaq Al - suadiduyR dlas
(D) Aeue SIHEL - AN AHHIS AU

CIRAHI 213HA gIRL A3 sRUML uddl Juaadl uan [Bl2a waqni 204 siel e 204 g ?

(A) als Ru (B)u2 aiHa HARl
(C) [Afqun [Qecun €22 (D) &is 3[R
AU S13AAAL Ao ALRAAART UHL A5 SiA Y2UnT 20dE el ?
(A) ARG Gi1RD (B) v1e 38l dusi
(C) Y5l ti-R® (D) S1E1RUE ARID

awd [3eeu-l 4seHl (The Indian National Army Trials)Hi ei2lqugi-l Hua asld siaL el ?

(A) 2l BRI G612 (B) £l buagw oumd
(C) Al neia Ailw (D) A qendus g
glas gl crumi Aell Wil e 56 8 2

(A) dg2) (B) ulaq

(C) 518 (D) HanAH

90130l 2820 (Presidency Towns)Hi sulL adi YRAREA 221Ul s 2044 ¢l ?
(A) 1855 (B) 1856

(C) 1857 (D) 1858

AHELAUE AUYR EAN ASIR ASAJIU [Ar2l BUR 6llasy Atv-l tirild $U1R oA Sl ?
(A)S.. 1909 (B) §.4. 1907

(C) §.:. 1905 (D) §.4. 1903

[AVF-1] [PT.O.
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037.  ollor Ay [Aus auid, [ A~ ddea 518l s34 ¢ ?
(A) AR %L AR (B) Azt 82413
(C) A&z (D) «is sididla

038.  2utlew-u Aee{Hi Al ansul asial

1. AGU 2u[35120 ud el 6UE Al UAH DARALE 613271 HSIAHT SIA0L viLd 191541 UAH AU
A Sl

2. 19174, 36 2152 oI AU AELAL 512, Al HUAHUT AL SAH U,
3. (@i ¢ud gL variR (Paunar) 2usl i s34 gdl.

(A) $5d 1 211 2 AUl AU 69, (B) $5d 1 24+l 3 AlsUlL ALY €9,
(C) $5c 2 27 3 cusAL AU 8, (D)1, 2 211 3 cusul ULy 69,
039.  “aaa silwarl o “eandl HER Yasui ealdd 6. B Yasl Auis S Sl ?
(A) 2wz auwd (B) disHi=y dlas
(€©)>:[as gl (D) Mg 61

040. DAL su aisul qidy 69 ?

1. 36 AR gIRL “SAQU AUAAH2 U’ (Faceless Assessment Scheme) WREASAL, SaHAL A4
UAEIEL 155 5l U Al A3 534 8.

2. 0 Al WE[MS dotsd 20,2008, (G.S.T.) SIUEL WIS A3 SAUML 2044 8,
3. 201971 5vsiril 61 2HL AL blold %Y 534 Sl
(A) $5d 1 241 2 cLsU ALY 8, (B)55d 1 ¢ 3 Atsu Uidu €9,
(C) $5d 2 211 3 sy ULdY 89, (D) 1, 2 ¢+ 3 cusy Uiy 89,
041.  gud 3qaudre §-3su (HDI) -l awsllui dle:dl 22 (Literacy rate), d®ildd »uyw dcuanit
(Life expectancy) i+ -
(A) “AlA AAMa ULss2 U 83 (gross national product per head)
(B) “Ala 3115 Uiss2 U 83" (gross domestic product per head)
(C) “HI 57 STl -l Al H2na Miss2” (gross national product in US dollars)
(D)) i Aana S-su v 34121’ (gross national income per capita)

042.  “‘a¢d Sdred-2 uid” (World Investment Report) Sivl gl 61812 U3l 244 9 ?
(A) 2Allun 3aqu-z 6is (Asian Development Bank)
(B) a¢s 6is (World Bank)
(©)yrus2s A si-s-a i 23 -3 3adud-2 (United Nations Conference on Trade and
Development)

(D) l 2USHA $1 Si-iHls sl2uAA 2w IaaudA-z (The Organisation for Economic
Co-operation and Development)

n [AVF-1]
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043.

044.

045.

046.

047.

048.

“d) 6iq lis $%”’ (The Bell of Faith) dlo-il 301 A$1R gIRL Si-L W2 A3 sUHL 2udd ¢l ?
(A) 2118 tunsi (Orphan children) (B) alrs w21 (Senior citizens)
(C) widla 285821 (Police Officers) (D) $id)s kgl (Covid warriors)

“§2ule”’ (Interpol) g 9 ?
(A) g, yuAl-ls [Qxq (B) A2 gt [Asumda 312
(C) s [B2UR HidRAdA A (D) 2iaRnElu r3ouRiA aibal HiHl 2z

SLaHi orwmi a8 dL 2w 28 (Gaza Strip) 48 ?
(A) gl -ueulzu uR[RRlA saladl [@oidid sies

(B) si-it @anuiRe-l 2wl s2ail ugld

(C) SHR1uA i S 2all AL [AralR

(D) “ugldl avd [Mesa/aietesl awadl ugld

ddseiza oli=s (Electoral Bond) tusid -1 W4l sur cusul uidy <4 ?

1. 201671 ~ugw olaui il Gedw s34 Sdl.

2. A% 51U YA gin uuaL 24 Guaidll .

3. HIL SBI glRL 4L il=3 da i 69,

4. %0 AL tUg 15 [Zauui 241 oliws a2iaaimi « 204 di, eliws+ll 354 A3UHLL ASd $IHL UL AU 69,
(A) $5d 1 21 2 cusul Aoy Al (B) $5d 2 virl 3 Alsl iy .

(C) $5d 3 21 4 cusul ULy -l (D)5 5 1 211 4 cusul Uiy -,

Aana Sredsyana wudl ade uidlll (National Intellectual Property Rights Policy) A6if a1
ALSAL ASIRAL ©

1. “€l8L 3aqud2 xA%=31” (Doha Development Agenda)-ll AHYdl-l MUAZU MR gLRL 24 24851
HIRAL MO 8,

2. BelldL Aat 21 AidlRs R [Aeudl (Department for Promotion of Industry and Internal
Trade) (DPHT) 1L Hi2 Ai3a 2%+l €9,
(A))1 244 2 i ALsul Ulou 69, (B) $5d 1 Alsu ULy 69,

-

(C) 55 2 sy UdU 6. (D) 1 1 2 bid ausl Uiy, Al

“f) odind 1322 ol Ui - 20217 (The Global Forest Goals Report - 2021) sii gl WRes
s 20dd ?

(A) 3 23 AllseaR 2U3{-uSBa (Food and Agriculture Organisation) (FAO)

(B)yrus2s A luidre 2is SsiifAsu i3 viglud 2134 (UNDESA)

(C) aes Auiln $-Eleye (WRI)

(D) a¢$ Ssinifs s1u (WEF)

[AVF-1] [PT.O. n
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049. Ly s AR uaRAl’ (Deficit Financing) g3
(A) el A2l UMl 219 8 2 §A UL 2l BRI3UML 214 69,
(B) 28R 21145 5l SR WA Q8 €9,
(C) N8R WA $cll AR S A8 €,
(D) U251 vl & Uicis 204 €9,

050. DA US si-i W2, AlsUFUNL, 6165 WS A ATl s -l ?

(A) 243Rd aldxi (B) 2t 2ul2onldil
(€)2idal S[=Rur sin (D) BuRlsa 14l o oaldil e

051.  dlsucug ulRaau siu silan 02 sl 5269 ?
(A) A Haua (B) asiuiny, stulax
(C) ULl 513 Hnax (D) dlsucu-i 1415240

052.  GURArLMAH &l 2B U (Law Officer) a3 siaL stddd S € ?
(A) HIRArL GRAAH AEAL HirL You =l
(B) 5v% U511 Hir. stagi=lsll
(€) cud- vl w43l
(D) 3% AR 16l AlAasl

053. AN UA il Rugs Win. - gL sl suadl -9l ?
(A) Hirt. Hoad-Alsll (B) Hrl. vi3aise el
(©)mun. s15 52 ~naas () E S PR ETRAT M ETE L]

054.  dlRsugU-l Hesiud-l [BRumi Hin. Badu =4y (Hon. Supreme Court) 58 usiz-ll [R2, yat

2083 529 ?
(A)bidl-ucaalls (Sefluu siux) (B) uH 08 (H-3H)
(C) ulasia (uil&[Br1217) (D) 2A[8512 Y2691 (sl Al-2l)

055. i YArad-l A U4 59 500 69 ?
(A) R ylami (B) M s ualtizil
(C) [Asruasll nalizi (D) GuRlisa b1t o sl

056.  ~llA-u WA 56 buoid, tiRRIAL 2u4H (preamble)ui avuda <4l ?
(A) ¥, FHRAL disl (we the people of India) (B) Ad@UH (sovereign)
(C) Brrmiucas (secular) (D) (&g (Hindutva)

m [AVF-1]
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057. ol Wgnedl Herm dva 58 dd bl a9 ?
(A) dlsuei-l Ul g4 Avaril 10% (B4 251) sl addl 1 ASxA
(B) clsu -l ueui-l & Avai-l 15% (deR 251) sl addl A AS
(C) AU AR & Ava-l 15% (deR 251) s addl - A
(D) QLSAML, APAAMIAL AU $& AvaL 15% (YeR 251) s audl - A

058.  ~NA UL 58 s AUAMLAL UL Sl el ?
(A) 28 [R2u01 uldld (Public Accounts Committee)
(B) iz ulnld (Estimates Committee)
(C) 28R sl uldld (Committee on Public Undertakings)
(D) 2. AL, 244 2A4.8). 2 seua ald (Committee on the Welfare of SC and ST)

059.  GRA-L el $@H 360 601, sUL ANHL URUEY 52158] e UM vudd 8l ? -
(A) 1962 (B) 1965 (C) 1975 (D) 512 urL Al

060.  tid Uil AYsd GlesHUi, a2 SR S ?
(A) A, eszulasi (B) st ApuAML Aculdsl
(C)Hun. dlsueu-l vas (D) M. asiensil

061.  2uélsa 21-A 1A, walRs Rewn ey 218502, iR S YHIRA SR8 1A © ?
(A) 8141 Rl (B)86HL YRl (C) 8841 YHui (D) 9041 Y

062. AL cusal sl :
1. GIRcrll 6{8IRRIHE G1RL-1541 el 2431 A2 salda €.
2. dug, [Qan Han aan qaiadidl el Aaian suw, gianll 21 [l gaieeidl 24zel

2pLoLAL €9,
3. CIRAHE AlsAML dl A% [Aaacusti-l 42ell yod HalfsR- 4Rl sl »ud 8.
(A) $5d 1211 2 4idu 89, (B) $5d 2 2 3 U9y 9,
(C))55d 1 211 3 U1y 89, (D) 1,221 3l 69,

063. 23 AU sR Sl ed-fla S+ S=flan - 2020-2025 (Roadmap for Ethanol blending in India -
2020-2025) AL U il GIRL AUIR UM 20dA €9 ?

(A)-l(a 2ui0

(B) 2R Ggun Hanay (Ministry of Civil Aviation)

(C) wulazel an, waay ulRad+ H-uau (Ministry of Environment, Forest and Climate Change)
(D) Adl 211 Yy Bofl Hsuau (Ministry of New & Renewal Energy)

064.  ~lA cusUl ASWRAL
1. Wl LAl 248512 2AlA[RuH - 2005, 12 2i5214R 2005 L A AHAHL VA,
2. viyde AT g1 [Relu qan sug 90 [Bauui slaqui olle vidla srva sl 28 9.
3. el san 184 MR dl Yl a4 siail Aaraud s34 6.
(A) $5d 1 21 2 cusAL ALY 8, (B) $5d 2 v 3 AlsUl ULoY €9,
(C) 55 1 24 3 cULsAUL UI2Y €9, (D)1, 2 21 3 cusAlL ALY B,

[AVF-1] [PT.O. n


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


065.

066.

067.

068.

069.

36,34,30,28,24, ,  dvasded?

(A) 2021118 (B)22 ¥ 18 (C) 20 211 16

X =dyqeu seqsa?

3/‘\1 6/7\8 4/6\9
O W OO
v OV T

(A) 13 B)11 (C) 15

2 L opowat g 200 ?

G|B|C
H|F |H
A|lD|?

(A)B B)E (CF

P =sylavg e ?

6 4 4 1

4 L |7

al (2

5 ? |1

6 10 (14 2

(AP BYM (©) 0
A2 [Qordl a5l :

adlan auy (sas : @)

1 2:31

2 3:13

3 3:55

4 4:37

5 ?

il adlan 524l Ay sdial ?
(A)5:19 (B) 4:59 (C) 6:29

(D) 22 11 16

(D) 17

(D) G

@)

(D) 7:39
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070. s agA 31 1,920 Hi Al F2dl 251 (%) sl A 8, d2dl 251 (%) sl avg, AT 20 dl
3. 1,280 Gu 6. 1 AAUHL % 259 151 HNNAdl €l dl d dg, seeuui dadl AL ?
(A) 31.1,600  (B)'3L. 2,000 (C) 31. 2,400 (D) 31. 3,000

071, HSU /MU el uleuni 9 9 AUR HAY B U dA, bidd HOA $A IR 56% 42 HNdd €.
2L URRUHE dAA, (M8 217 2UAA) F2al 9L vl ¢l ?
(A) M8 - 40 : 31 - 31 (B) W82l - 41 : 49 - 32
(€©)m8a - 42 : M - 33 (D) H8a - 43 ; ML - 34

072. 140 12 aisfl 2udl, 180 Hle: @esiuA 8 ASsHi uAIR 52 O, 21 AANH -l B3y sedll ¢ai ?

(A) 120 [33y/scus (B) 132 [34)/5cus
(©)144 [3)/scus (D) 160 [34)/scus

073. ((8)2)%>< (25)% Al Zud il
(A) 40 (B) 30 (C) 24 ®))20

074. 144,196, 324,576, vudl ouini 5§ v ¢l ?
(A) 961 (B) 841 (€) 1024 (D) 1089

075. ¥l AvAIHL 40% UL 40% HARAGAR 40 A, dl d, AvAL 8 839 ?

(A) 200 (B))250 (C) 300 (D) 400

076. i A, 215 28l 60 MlA2ui, ol 10 40 [lR2ui 244 =l 40 120 [ReHi &R €. oA A% AN 218
AU WIAUHL 20 dl Seel aHuul 2i8 M w9 ?
(A 10 mlRe  (B) 15 M2 (C) 18 [AlA2 (D)20 [AlA2

077. w5 6l5UHE 1 3L, 50 WAl 241 25 Wil Rss1 68 214 d-l 9RiR 2:3:4 6. U 65U $& 180 3L SiU
dl 50 V- 2 [sst eel ?
(A)120 [asst  (B) 90 [uss1 (C) 60 (g5 (D) 45 g5

078.  %3si A3 :

oAl Airglas an 22

1.y[Rdan a. ¥louw

2. Hid an b. 3%HldL 34 - 529
3.8 a C. AHELAUE

4. %3%R At d. oo
A)l-d,2-a,3-b,4-cC (B)l1-a,2-b,3-c4-d
(C)1-b,2-¢,3-d,4-a (D)1-¢,2-d,3-a,4-b
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079.

080.

081.

082.

083.

084.

085.

sidlou aides ads Ay (Coringa Wildlife Sanctuary) eiieid -1 ausdl A51l :
1. 24 AR, didla-ugul udd 6.

2. ¢RI ollon 1612 “HALL A’ 2L AMARRYHE 21 8.

3. 20 v gell Hil Avami welHidl [Biandl (Fishing Cat) 2uda €.

(A))1, 2 211 3 sl Aieu 69, (B) $5d 1 %A 2 LSl ALY 69,

(C) $5d 2 211 3 LUl iU 69, (D) $5d 1 211 3 cusUl UidU 69,

“Hiu2H $12 A=y (Momentum for Change)-it M8idL 5iaL ¢ ?

(A)yruses sarue A As2<ld2 (UN Climate Change Secretariat)

(B) UNEP

(C) a&s tivs (World Bank)

(D) UNICEF

grilaudl euadisina A4l (Biodiversity) euoid A4 WS 53 dusau/jausul alou €9 ?

1. 70% $2l a4IR ldg (species) 98l (plants) €.

2. well2AHi Al aii? (4™ 70% sl a4iR) ol (species)l A il (Insects)d, adllseL o
2044 69,

(A) WAL NAH LS ALY 69, (B) Huat 6lof cusy uidu 69,

(C) nan i oflog bid aisul U1y €9, (D) M 24+ 6fl9f vid asul dloy 4.

stoin 5812 (Carbon Credit)-l vaa 56 a2 (summit)uid GgMdd gdi ?
(A) U 23fl4-2 (Paris Agreement) (B) Hitdlua Mizisia (Montreal Protocol)

-\

() suizi wizisia (Kyoto Protocol) (D) »d ¥l (Earth Summit)

YUR £352 (super conductor)-il HAGA $UL ARA4HL €9 ?

1. SAs2lsa 5321 YU A4 (Zero resistance) €.

2. 531 Ho1[2ow (Ferro magnetism)

(A) 124 2 cusuui saida el . (B) 1 1 2 aisudi salda opRil -l
(C)55q 1 1l ailda oRil €. (D) $5d 2 Hi sulda dRil €9,

“dloy otii’’ (Higgs Boson) oflon suu susel uwt wvaid ¢9 ?
(A) Sds2i- (Electron) (B) Wél-L %501 (Sand Particle)
(C) =42i-t (Neutron) (D) ~us wilsa (God Particle)

A2l WA 5y ofl-tug (Non Metal) 3HHi - ARHIHE nadl 230 28 € ?
(A) 81253 (Phosphorus) (B) xS (Bromine)
(C) saidlA (Chlorine) (D) dllum (Helium)
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086. 2a1duda dls (Tetraethyl lead) sl Sgui Guuloi daw €9 ?
(A) gut [Raurs (Pain killer) (B) U[3Huns (Fire Extinguisher)
(C) W92 g2 AMUR (Mosquito repellent) (D)uzia 2= [2a (Petrol additive)

087.  WUd A d UAHL DA 2iucHi 2uadl 218l (Trophy) L A2l WA 56 Al wiou €9 ?
1. 2uouviq su — 8isl
2. B191H ¢ Hdd 215l — g2oila
3. g2 [BreiR 2isl — ald uad)
4. Ezra Cup — vl
5. dlaina su — 2+l
(A)1, 2 24 4 (B)1,2,31 4
(C)1,2,4415 (D)1,2,3,4¥15

088.  udla Heaudlail 2, d2i-l R1dq 11y d Asl.

1. 8l udls (Shakshi Malik) a. 814l

2.4\ 4l Aly b. tisHlrent

3. [Bun 54382 c. gl

4. 36U YigH s3H d. [F-ure
(A)1-a,2-¢,3-b,4-d (B)1-d,2-a,3-¢ 4-b
©)1-c,2-b,3-d,4-a (D)1-b,2-d,3-a,4-c

089.  lAlUs AL - A 1, 20+l AL UA 5 A Alou 4l ?
(A) 1896 — A+, Al (Athens, Greece) (B) 1908 — ¢+t (London)
(€))1936 — dl vi%e (Los Angeles) (D) 1960 — 4 (Rome)

090. UM GuAML Aaldl v AGEL 2 AL A2 WS 5 ALl alou 8 ?
1. 914, 25 — vadl2su (Athletics)
2.5l 2, 2s[Asa 5184 — vineila
3. Wlalay, ye 2u2 — surse sila
4. 93 2w, 31l — el (Bridge)
(A) 1211 2 idu 69, (B)'1 24 4 uioy 9,
(C) LA 3Uidu 89, (D) 1,2, 32 4912069,
091.  GRd-l 25 eAl-l ALs5A [ARARHE HSTUH tUMSIAL HIAL- [0l A1 53 SuH 2uuardl Ao su1
A% gIRL AZ SAUHL 2uddl €9 ?
(A) 8Raweu (B) Grikusal
(C) Bz (D) Al
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092.

093.

094.

095.

096.

097.

098.

099.

100.

Al A2 Al S U MR ASIR GIRL 58 Ul A3 534 8 ?

(A) Ay2iod 2= uidll (Renewable Energy Policy)

(B) i1t s~auia widlil (Non-conventional Policy)

(€)1 25 uidlAl (Green Tariff Policy)

(D) 112 uidll (Energy Policy)

§55L IFFCO g1 -l ylul sleans 2 wn-e (Nano Urea Fertiliser Plant) 213 524l su1 22018 512
24 8 ?

(A) S+siqglla (Indonesia) (B) A% -3l (Argentina)

(C) =y fd~s (New Zealand) (D) tiidicuga (Bangladesh)

WWEF G121 “AiA 3R ¢S 51322 572 i 11y’ (Ambassador of Forest Frontline Heroes) d<l3
stll (AHg)s saHl 2uda © ?

(A) 2uHal il (B) Gutaa-i 1311l

(C) 4l gut (D) a2 2401

QURAML “WAUlE Al [Ban’ (Passport Seva Divas) 413 Goscuy €9 ?

(A) 23 % (B) 24 % (C) 25 % (D) 26 %

dlsdl Hds193 v01R wre (Genetically Modified Rubber Plant) ®liRdMi Al MaH Al sl
AL AuAH 20dA 8 ?

(A) Brerr (B) »uu4 (C) 3Ral (D) avllea-ug
SaszilAs v SrslHan 251l Hauau (Electronics and Information Technology Ministry)
a1l “Slwea Un-2 2512 5187 (Digital Payment Scorecard)Hi Al2l Gu Add Aloa adl 54 6ls a9 ?
(A) ICICI6ls  (B) HDFC 6is (C)sBI 6is (D) Uonet Hand s

wlAfRsa Az YA YRARA - 24uq A28 WS» 2021 (The Prestigious Central European
University Open Society Prize - 2021) $i- UMt udd ¢ ?

(A) AL ). [Qorun (B) A . sNuzn

(C) L 31, e¥ad- (D)4l 5. 5. Aax

5- G AzasHl dad H2 4l curdl 2124 g1t si-l il asuio s34 69 ?

(A) s (Ericsson) (B) §lsn 25+1dl® (Dixon Technology)
(€)2121 21u (Tata Group) (D) 25 Wdlw1 (Tech Mahindra)

aes 6ls (IMF) g1 A3 <l 2w “World Bank - IMF High Advisory Group”4i 13- U4l il
(Rysdl s2a e ?

(A) %dd SHR €1

(B)Hi2s la 2ugadlu (Montak Singh Ahluwalia)

(C) gl Axud) (Shashi Vempati)

(D) M [an wdl
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101.

102.

103.

104.

105.

A2 2uual $530 aidl us 101 9l 105 - G 24Ul

2312 7 Al Adcutd Guid el Aacud Gu avuni ag aa suuag 6. al-l 5¢00 Alad), 5

Hetet AlssruRuell izl i) gl ad) 22l 5 gedl A1l awellefl i €. dacu- e 3o 69, wat awell-y

&L 300l el A defl 2adi Yl UM O A UM €9 AR &L 52U 5165 s U 53 8. 2al uan

[Raum evidl 5 932 B2g o ellad 4 Y d-il o 61k 2uudl. vldau aadq sul s34 €l 2 vllag dui

-

ugl % AR SiA d AL A Al gal @ d [l 2 158l Avig 5 nimddl a0 2iqune) seidl

Al A8l SISA d sl 209l s8d); Bl Ucua Ry Sid d dl a2l guadl sllaqni 452 Al

sl ollad (8, 34 5 viH Al Altn-uRA st udl M O 4 axidl ad Wil Sia dl wa 1eudl 4l

FH AAAUHL 5 AUl AR A5 A5 539 2L 15 §24 6 dH ellaHl wL st wHl cuou

s 4 61y o SUA 527U © e {d o ellad A B B sl dg oeuad, awll AAdl md) 5 gefl udA

A 2, 2is ueL s3al 208 Al ual A8, A seaul s3dl ad uaL 14l Ad sedl.

Avis-i Hd A a4l siR -l wa e ?
(A) 5131 cwellel)

(C) 6121 ad-el

‘el 303t el — HiH e s8] 6 ?

(A) ¥ A1 A2 8,

(B) Hyru cwsll-u e 2d il Yl uie v 6.

(C) 2w vidlald €9,

(D) AL 8L 31U 8 - UL Qieuudl,

RN Sldcdui nan g i Awg ?
(A) 2ldau viag

(C) 32 w24 ¥ vllag,

w1 vllaa o i ?
(A) oA a1 Al

(C) asu ald dd Hi-ll nu
5l awsll Amang Quis 58 6 ?
(A) 16131 cugll

(C) vudl-Hlél awsll

(B) il awsllefl

(D) A1 Al

(B) 1 elag

(D) %32 B¢ U L vllag

(B) UMAWU dRcl A AN

(D) timn-uR 2isLud 8

(B) s34l anell

(D) et Mlfd e Al sl
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106.

107.

108.

109.

110.

111.

112.

113.

$3Adrl 2L 2UUL 2 YIESHL A 93]
(A) wadlui an siy (B) wadl ugdl

(C) 51311 ulReume) o 511 U (D) 1443 1A

s8ad-l 42 UL 2 ‘ARY dl dl2 S dl gssl’
(A) dlR disg)

(B) 4551 @dusal

(C) st as o

(D) 511 U2 dl Al 89 -lR dl qs2unt el

UHU BULGIA SIH AUIR’ A A 56 $8ad 28l ?
(A) ua aioll gidl (B) d @ivllA it
(C) da Al3L ud aiodl (D)1 AéA A Ao

R

$Sdrll A4 UL AU dl WL AD L eLRl’
(A)-u-il wa alsasusll (B) -l gL "Ml

(@ENERSETETAN (D) =it vt HieL gal A&

3[euaiorrl e 2l : “uoL Midtar’
(A) w3l Son adl (B) wdl audng

(C) Gulda ag (D) scua ag

3[@naiortl 242 20l : um sted’
(A) 213 0l (B) »ut3 dpuadl

(C) UM 1 &id, (D) auouHidl -uH selag

3(naiontl 212 2uul : wisll aviry’

(A) Y58l ag ¥l (B) alsd avry
(C) [EHacuy] (D) [Braga 2eun
‘ildul s2ai” — 2 3[3uuloL 118 sul 242 Yiowd € ?

(A) gid gvnse (B) Hl§ vilag

(©) R3S vllag (D) ¥l t1ou3g
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114.

115.

116.

117.

118.

1109.

120.

121.

122.

3(naiorl 248 2uul : yoell s4
(A) g el 524l

(C) 203 aridl

auuedl a0t 20yl :

(A) yd
(C) yedl

axruell 20e 2pu)

(A) g
(C)all

el aoe 20yl :

(A) alx
(C) ¥s

axruell 20e 2l

(A) et

(C) ¢imt

(A3gell a10e 20l :
(A) &3

(C) [Rar

(A3gell a0e 2l :
(A) Sae sal

(©) Sy

(A3gell 210e 2uul :
(A) 2vis

(C) vil3a aq
(A3l 210e »uul :
(A) xidlRs

(C) #iaZoll

‘aus’

‘a’

“so’

‘e’

“wil3q

i

(B) >ueA3-il -ua sl
(D) lAlsa calset gig

(B) s
(D) well

(B) aiel
(D) ydl

B)ud
(D) yedl

(B) >1=lae
(D) §%

(B) Geitsy]
(D) ey[&dl

(B) S + 2 g,

(D) 3

(B) wivis

(D) ulRa

(B) 2iayuil
(D) ilg3
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123.

124,

125.

126.

127.

128.

129.

130.

131.

il oasell el
(A) Al-4l52
©)RAlf352

=l sell 2k,
(A) Aldur
(&) EIRDIEY

=l osell 2k,
(A)Ril2l22
(C) A-dller

=l sell 2k,
(A) isuadly
(C) 2usiicul3y

12l 236l 2kl
(A) wdlaa
(C) alduct

A )

A SR 2ivdl. ‘Gl 2 HIE sl 543 9.
(A) Gun
(C) sl

AR

BESIR AANBUAL, SIALL HRAAR A8 SE A’
(A) 3us

(C) Gaian

ESIR ANval. [Rruay »1ed [Buay’

@i

(C) arilu

(B) Ru-dl32
(D) [a~ss2

(B) udlui
(D) udlug

(B) al=2Hle=
(D) Al Mer

(B) ituandly,
(D) icucl3y

(B) culdaa
(D) awluar

(B) 3us

(D) Gz

(B) Guni
(D) ulaailsd

(B) 2ldailsa

(D) Gedau

VSR VNV ‘CNd sNd s0d 8, HIR H[E2 2 '

(A) Guw

(C) 3us

(B) Geiau

(D) -
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132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

‘gl dl wadl’ — AESIR vl
(A) 2y (B)=an (C) Guwi

AHRA AN 2 D8R

(A) [g3y (B) ¢ (C) de43n
AR ANV ¢ HSIMURA

(A) s+ (B) Ac43n

(C) ¢ (D) g3y

AHIRA AL 2 §RIR

(A) (g3 (B) Heunugdil
(€) Guue (D) ¢v¢

AHRA 2N s’

(A) dAey3n (B) il (C) g8

AHRA 2ovnal : Yaks’
(A)acy3n (B) g (C) wausaidl

AGEAUYS W2 V5 AE UL : V2 AR dd)
(A) 21 B)vi2
(C) xg2 (D) 2AAR

AGEAUYS W2 A5 A6t Ul : Wlg usauRn’
(A)»aRal (B) Hleid 2@ (C) a1

Ao

Gl %HA, HIMS” — HI2 $UL S5 Ase YA 8 ?

(A) 21y (B) 4% (C) yd%

AGEAUYS HI2 25 AGE UL 2 ‘Bl 2UUIR AS A S A,
(A) 2-1REUS (B) xAHuES
(C)1uReals (D) WReals

-\

AGEAHE HIE 25 AGE 2L : el 931 el dd.’
(A) 2ld (B)>t-iq
(C) ¥ (D) x84

(D) 3us

(D) sHRY

D)3y

(D) (g3

(D) HIg @

O
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143.

144,

145.

146.

147.

148.

149.

150.

‘U, + 2R’ — A8 52U
(A) HgtmdR (B) Hred:

(C) HrdR (D) HrdR

AR 9131 2 “Vleurd

(A) Adl + 2 (B) R +
(C) xdl + = (D)ila + 2
g+ Rra=....... AR wa

@ (B) &Rt
(C) gl () &P

KN MR CRIKI
(A) 9y + 25R (B) gy + 2512

(C) ag + UesR (D) 8y + AersR

t9¢ O 2 ‘AR % weudl, ara- [Qel suasRell’
(A) U5l (B) s[Rell

(C) yedl (D) [Qr1ell

t9e 2Nl : A o 42 83, 4ad a9 1L HIRRY
(A)ruedl (B) [Rull

(C) [Qrell (D) Helsldll

9 2Nl 2 2ol dA 203d] AR’

(A) Gurgaom (B) Ssaom
(C) azid [dast (D) Al
98 UL : ‘5 §d AN s

IR RERN IR Y

(A) €isRl (B)aius

(C) «lRolla (D) arid [dast
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151. I’ve hung out the clothes. It’s lovely and sunny; if it (stay) like this they will be dry in two hours.

(Put the verb in brackets in correct form.)
(A) stays (B) stayed

(C) will stay (D) would stay

152. If the crowd (not cheer) we (not run) back up the stairs to see what had happened. (Put the

verbs in brackets in correct forms.)
(A) had not cheered; did not have run
(B) had not been cheered; would not have run

(C) had not cheered; would not have run -

(D) have not cheered; would not have run

153. But he says that if he (have) his life again he (make) the same choice. (Put the verbs in brackets

in correct forms.)
(A) have; would make (B) had; will make
(C) had; will be making (D) had; would make

154, But I blame the real culprit even more. If he (admit) his guilt Peter (not be) expelled.
(A) had not admitted; could not have been
(B) had admitted; would not have been
(C) had been admitted; would not been

(D) had admitted; would have been

155. We had a lot of trouble putting the tent up. If it hadn’t been so windy perhaps it (not be) quite
so difficult.

(A) mightn’t have been
(B) may not have been
(C) might have been
(D) mightn’t had been

156. The of keeping a person in prison for a year is enormous. (choose the correct word)
(A) price (B) fare
(C) cost (D) rent
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157.

158.

159.

160.

161.

162.

163.

164.

I’m studying for a degree. (choose the correct word)

(A) scientific (B) scientist

(C) science (D) none of the above

Political stability acts as a for foreign investment. (choose the correct word)

(A) stimulus (B) stimulant

(C) stimuli (D) stimulants

I stopped the piano at the age of eight. (choose the correct word)

(A) to play (B) playing

(C) to playing (D) played

He said he was employee of the gas company and had come to read meter.

(supply appropriate articles)

(A) an; a (B) an; the
(C) the; the (D) the; a
I remarked that if there was leak in the gas pipe there might be explosion.

(supply appropriate articles)

(A) a; an (B) the; an
(C) a; the (D) the; the
To prevent possible repetition of this accident, I lent him torch.

(supply appropriate articles)

(A) a; the (B) the; the
(C) the; a (D) a; a
He sold the picture an American dealer $ 5000.

(supply appropriate prepositions)

(A) to; for (B) with; at
(C) to; by (D) for; at
He promised us a share the profits.

(supply appropriate prepositions, if necessary)
(A) to; on B)__ ;in
(C) for; (D) for; in
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165. She is knitting socks refugees. | wish she’d knit me some socks.

(supply appropriate prepositions, if necessary)

(A) with; to (B) to; with
(C)for; (D) with;
166. He told them to wait him the bridge. (supply appropriate prepositions)
(A) to; by (B) on; on
(C) for; at (D) for; with
167. towns have such splendid trees. (use appropriate adjective)
(A) Much (B) Few
(C) Any (D) Alittle
168. I have quite books on Mathematics. (use appropriate adjective)
(A) a little (B) a some
(C) agood (D) a few
169. men are you talking about? (use appropriate adjective)
(A) Whom (B) Why
(C) What (D) Who
170. How pictures did you buy? (use appropriate adjective)
(A) many (B) much
(C) a few (D) a little
171. He was there with me; there is no doubt about it as he was sitting just next to me.

(use appropriate adverb)

(A) barely (B) hardly
(C) scarcely (D) certainly
172. I couldn’t find Peter did I know where he had gone. (use appropriate conjunction)
(A) as (B) nor
(C) while (D) so
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173.

174.

175.

176.

177.

178.

Gopi broke the glass, (use the correct question tag)
(A) did he? (B) didn’t he?
(C) doesn’t he? (D) does he?

It is two years since | saw Tom. (Rephrase the sentence, using present perfect tense with ‘for’ or

‘since’, without changing the meaning)
(A) I haven’t seen Tom since two years.
(B) 1 haven’t seen Tom for two years.
(C) I have seen Tom since two years.

(D) I have seen Tom for two years.

You obey your parents. (use appropriate model to express obligation)
(A) may (B) can
(C) ought to (D) dare

The milkman brings the milk to my door but the postman leaves the letters in the hall.

(change the voice)

(A) The milk is brought to my door but the letters left in the hall.

(B) The milk is bring to my door but the letters left in the hall.

(C) The milkman bring milk to my door but the letters are left in the hall.

(D) The milk is brought to my door but the letters are left in the hall.

Normally men sweep this street everyday, but nobody swept it last week. (change the voice)
(A) Normally this street is swept everyday but it wasn’t swept last week.
(B) Normally this street is sweep everyday but it wasn’t sweep last week.
(C) Normally this street swept everyday but that wasn’t swept last week.

(D) Normally the street swept everyday but it wasn’t swept last week.

Someone turned on a light in the hall and opened the door. (change the voice)
(A) Alight turned on in the hall and the door was opened.

(B) Alight turned on in the hall and the door opened.

(€) A light was turned on in the hall and the door was opened.

(D) A light was turned in the hall and the door was opened.
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179.

180.

181.

182.

183.

184.

185.

He suggested allowing council tenants to buy their houses. (change the voice)
(A) He suggested that council tenants should be allowed to buy their houses.
(B) He suggested the council tenants would be allowed to buy their houses.

(C) He suggested that council tenants should be allowed to buy them houses.

(D) He suggested that council tenants should allow to buy their houses.

“Have finger on the ” (complete the idiom to convey the state of being familiar with the

most recent developments)

(A) button (B) internet
(C) tab (D) pulse
“Aflyin the ” (complete the idiom to convey the state of someone or something spoiling

a pleasant situation)

(A) curry (B) milk
(€) ointment (D) tea
“Hang somebody out to ” (complete the idiom to convey the state of getting somebody

into trouble)

(A) die B)dry
(C) dismay (D) danger
“Jump the ”” (complete the idiom to convey the state of doing something too soon without

careful thinking)
(A) ship (B) gate
(€) gun (D) river

Choose the correct meaning of the phrasal verb “take out”.

(A) Subtract (B) Withdraw

(C) Repay (D) Lend

Make sureyou _ enough each month to cover your bills. (choose the appropriate phrasal
verb)

(A) Pay back (B) Cut back

(C) Pickup (D) Set aside
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186. We’ve got to our essays by Monday. (choose the appropriate phrasal verb)
(A) Hand in (B) Handout
(C) Write off (D) Miss out

187. Choose the correct meaning of the phrasal verb “come along”.
(A) Find (B) Arrive at a place

(C) Become known (D) Return

188. Choose the correct spelling:
(A) Rembursement (B) Reimbarsement

(€) Reimbursement (D) Reambursement

189. Choose the correct spelling:
(A) Courteous (B) Courtious

(C) Courtieus (D) Coerteous

190. Which of the following is not a synonym of “container”?
(A) Receptacle (B) Repository

(C) Vessel (D) Ingredient

191. Which of the following is a synonym of “deign”?
(A) Condescend (B) Defy
(C) Defunct (D) Defraud
192. Which of the following is an antonym of “candid”?
(A) Biased (B) Clear
(C) Bright (D) Minor
193. Which of the following is not an antonym of “disbelief?
(A) Credulity (B) Urge

(C) Faith (D) Trust
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194. Find one word substitute for “A person who acts against religion”.
(A) Apostate (B) Atheist

(C) Heretic (D) Terrorist

195. Find one word substitute for “One who does not express himself freely”.
(A) Iconoclast (B) Impregnable

(C) Ascetic (D) Introvert

196. Find one word substitute for “One who is unable to pay his debts”.

(A) Impregnable (B) Insolvent
(C) Indebted (D) Apostate
* Read the following passage carefully and answer the questions that follow

(Question no. 197 to 200)

Science enables us to know the means to any chosen end, but it does not help us to decide upon
what ends should be pursued. If you wish to exterminate the human race, it will show you
how to do it. If you wish to make the human race so numerous that all are on the very verge of
starvation, it will show you how to do that. If you wish to secure adequate prosperity for the
whole human race, science will tell you what you must do. But it will not tell you whether one
of these ends is more desirable than another. Nor will it give you that instinctive understanding
of human beings that is necessary if your measures are not to arouse fierce opposition which
only ferocious tyranny can quell. It cannot teach you patience, it cannot teach you sympathy, it
cannot teach you a sense of human dignity. These things, insofar as they can be taught in formal

education, are most likely to emerge from the learning of history and great literature.

197. The term “end” in the passage implies:
(A) Close (B) Expiry

(C) Furthest away point (D) Aim

198. Find the word which is used to convey the meaning of “annihilate” in the passage.
(A) Verge (B) End

(C) Exterminate (D) Tyranny
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199.

200.

History and literature are superior to science because they teach us:
(A) Human values

(B) Logical thinking

(C) Ferocious tyranny

(D) To make human race rich and prosperous

Find synonym for “suppress” in the passage.
(A) Exterminate (B) Ferocious

(C) Quell (D) Fierce
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001.

002.

003.

004.

00s.

006.

007.

Function of interpoles in the DC generator is to

(A) neutralize the reactance voltage

(B) make commutation sparkless

(©) neutralize the cross magnetizing effect of armature reaction

(D) all of the above

Lap winding is suitable for

(A) Low voltage and large current DC generator

(B) High voltage and small current DC generator

(C) Low voltage and small current DC

generator

(D) High voltage and large current DC generator

The friction and windage losses in a DC motor depends upon

(A) speed

(C) armature current

(B) flux

(D) field and armature resistance

The sole purpose of commutator in DC generator is to

(A) increase output voltage

(B) reduce sparking at brushes
(C) provide smooth output

(D) convert generated AC into DC

The mechanical power developed by a DC motor is maximum when the back e.m.f is

(A) equal to the applied voltage
(B) equal to zero

(C) equal to half of the applied voltage

(D) approaching the value of the applied voltage

The series field of short-shunt generator is excited by

(A) shunt field current

(€) load current

In a DC generator, generated E.M.F is
(A) field current

(©) pole flux

(B) armature current

(D) external current
proportional to the

(B) number of dummy coils

(D) both (A) and (B)
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008.

009.

010.

011.

012.

013.

014.

The critical resistance of DC generator is resistance of the
(A) field circuit (B) armature circuit

(C) load circuit (D) brushes

The commercial efficiency offered by DC shunt generator is maximum when
(A) variable loss=iron loss

(B) variable loss=stray loss

(€) variable loss=constant loss

(D) variable loss=friction and windage loss

In a DC generator, the effect of armature reaction on the main field is to
(A) reduce it (B) distort it

(C) reverse it (D) Both (A) and (B)
Which of the following motor has the poorest speed regulation?

(A) shunt motor

(B) series motor

(C) differential compound motor

(D) cumulative compound motor

If two alternators are running in proper synchronism and the voltage of one machine is suddenly

increased,

(A) both machines will stop

(B) one machine will stop

(€) synchronizing torque will be produced to restore further synchronism

(D) none of the above

In a transformer, the value of full load copper loss is of the order of 36 W. What will be the value

of copper loss at the half full load?

(A) 18 W (B) 12 W

©ow (D) 6 W
Laminated yoke is used in DC motor to reduce the

(A))iron loss (B) tempreture rise

(C) sparking at carbon brushes (D) speed regulation

[AVF-2]
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015. The residual magnetic field of DC shunt generator is destroyed accidently. It can be restored
(A) by connecting the shunt field winding to earth
(B) by connecting the shunt field winding to DC source
(C) by reversing the terminals of the DC
(D) by making the shunt field winding open circuited

016. If pole flux in the DC motor approaches zero, its speed will
(A) approach to infinite
(B) approach to zero
(C) remain constant

(D) approach a stable value between zero and infinite

017. The breakdown torque of a synchronous motor varies as

(A) 1V (B) 1/Vv2
(9% (D) v?
018. In two winding transformers, primary and secondary windings are
(A) conductively linked (B) inductively linked
(C) electrically linked (D) not linked at all
019. The flux in the transformer core

(A) increases with increase in load
(B) decreases with decrease in load
(€) remains constant irrespective of load

(D) decreases with increase in load

020. All day efficiency of a distribution transformer is the commercial efficiency
(A) the same as (B) more than
(C) less than (D) none of the above

021. Transformer offers negative voltage regulation when its operating power factor is
(A) zero (B) leading
(C) lagging (D) unity

022. The transformer that should never have the secondary open circuited when the primary is
energised, is the

(A) power transformer (B) voltage transformer

(C) auto transformer (D) current transformer

n [AVF-2] [Contd.
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023. When closed delta bank of transformer is converted into open delta connection, how much load
will be supplied by each individual transformer with respect to the original load

(A) 66.7% ®)57.7%
(C) 50% (D) 73.2%

024. Temperature rise in a transformer is directly proportional to the

(A) apparent power (B) active power
(C) leakage reactance (D) none of the above
025. In a transformer, the chemical used in the breather is
(A) silica sand (B) sodium chloride
(C) asbestos fibre (D) silica gel
026. In Scott connection, the teaser transformer operates on 0.866 of its rated
(A) voltage (B) impedance
(C) current (D) power

027. Which of the following results into a symmetrical fault?
(A) Three-phase-to-earth (B) Phase-to-phase

(C) Single-phase-to-earth (D) Two-phase-to-earth

028. Which of the following adds or subtracts a DC component to the input circuit?

(A) Clipper circuit (B) Clamping circuit
(C) Attenuator circuit (D) Amplifier circuit
029. A balanced three-phase system consists of

(A) positive sequence currents only
(B) negative and zero sequence currents
(C) zero sequence currents only

(D) zero, negative and positive sequence currents

030. The resistance of an electric arc can be increased by
(A) increasing cross-section of the arc
(B) splitting the arc
(C) increasing concentration of ionized particles

(D) reducing length of the arc
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031.

032.

033.

034.

035.

036.

037.

The rate of rise of restriking voltage (RRRV) of the circuit breaker is dependent upon
(A) resistance of the system only

(B) inductance of the system only

(C) capacitance of the system only

(D) inductance and capacitance of the system

The arc voltage in the circuit breaker is
(A) in phase with the arc current

(B) leading the arc current by 90 degrees
(C) lagging the arc current by 90 degrees
(D) lagging the arc current by 45 degrees

The topmost wire in a distribution line is the
(A) neutral wire (B) earth wire

(C) phase wire (D) any of these

To limit current chopping in vacuum circuit breakers, the contact material used has
(A) high vapour pressure and low conductivity properties

(B) high vapour pressure and high conductivity properties

(C) low vapour pressure and high conductivity properties

(D) low vapour pressure and low conductivity properties

Reactance relay is

(A) voltage restrained over current relay
(B) voltage restrained directional relay

(C) directional restrained over current relay

(D) directional restrained over voltage relay

Restriking voltage is measured in terms of the
(A) RMS value (B) peak value

(C) average value (D) instantaneous value

Purpose of backup protection is
(A) to increase speed (B) to increase the reach

(C) to leave blind spot (D) to guard against failure of primary
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038. Admittance relay is a
(A) non-directional relay (B) differential relay

(C) directional relay (D) none of the above

0309. If the fault current is 2000A, the relay plug setting is 50% and the CT ratio is 400/5, then the
plug setting multiplier will be

(A) 25 (B) 45
(C) 50 (D) None of the above

040. In rush current in a transformer at no load is maximum if the supply voltage is switched on
(A) at zero voltage (B) at peak voltage

(C) at V/2 (D) at 3V/2 -
041.

The relay used for phase fault protection of short transmsission lines is
(A) reactance relay (B) impedance relay

(C) IDMT relay (D) mho relay

042. Directional relays respond to the

(A) flow of current (B) voltage polarities

(©) flow of power (D) all of the above
043. Merz-price protection is employed for protection of

(A) alternator (B) transformer

(C) transmission lines (D) Both (A) and (B)

044. Normally rating of battery is in
(A) Volts-ampere (VA) (B) Watts
(C) Ampere-Hour (AH) (D) Watt-Hour (WH)

045. Currently, which battery is preferred for hybrid vehicles where high performance rather than
cost is the main criterion?

(A) Lithium ion (B) Sodium Metal Chloride
(C) Nickel metal hydride (D) Nickel cadmium

046. In case of electrical vehicles, stepup switching regulators are known as
(A) Buck converters (B) Boost converters
(C) AC/AC converters (D) AC/DC converters
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047.

048.

049.

050.

051.

052.

053.

During charging, the specific gravity of electrolyte of a lead acid battery
(A) increases (B) decreases

(C) remains constant (D) becomes zero

Which process is responsible for production of energy in the sun?

(A) Nuclear fission reaction (B) Nuclear fusion reaction
(C) Exothermal chemical reaction (D) All of the above

The diffuse radiation

(A) has no unique direction

(B) has unique direction

(C) has short wavelength as compared to beam radiation.

(D) has larger magnitude as compared to beam radiation.

Field failure in an alternator occures due to

(A) failure of exciter

(B) faulty field circuit breaker

(C) inrush of large current

(D) both (A) and (B)

The protection against over-voltage due to lightning is provided by
(A) use of surge diverters

(B) low tower footing resistance

(C) use of overhead ground wires

(D) any of the above

For the protection of large squirrel-cage induction motor against single phasing, normally

(A) an overcurrent relay is used
(B) a differential relay is used
(C) a directional relay is used

(D) negative sequence current sensitive relay is used

In case of protection of stator winding of an alternator against internal faults involving ground,

the relay used is

(A) biased differential relay

(B) directional overcurrent relay
(C) plain impedance relay

(D) Buchholz relay

[AVF-2]
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054. Which relay is used to detect and protect the transformer against incipient faults®
(A) Buchholz relay
(B) Overcurrent relay
(C) Thermal relay
(D) Differential relay

055. In a circuit breaker, the active recovery voltage depends on
(A) power factor
(B) armature reaction
(C) circuit conditions

(D) all of the above

056. In the protection of transformer, harmonic restraint is used to guard against
(A) magnetising inrush current
(B) unbalanced operation
(C) lightning
(D) switching overvoltage

057. For complete protection of transmission line
(A) three phase and three earth fault relays are required
(B) three phase and two earth fault relays are required
(C) two phase and two earth fault relays are required

(D) two phase and one earth fault relay is required

058. Adjustable resistors are connected to pilot wires in order to
(A) change the phase of the current flowing through the relay
(B) get equipotential point on pilot wires
(C) reduce the magnitude of the current flowing through the relay

(D) none of above

059. For the protection of parallel feeders fed from one end, the relays required are
(A) non-directional relay at the source end and directional relay at the load end.
(B) directional relay at the source end and non-end and directional relay at the load end.
(C) directional relay at both the ends.
(D) non-directional relay at both the ends.
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060.

061.

062.

063.

064.

065.

In carrier current protection, the purpose of wave trap is for

(A) trapping power frequency wave

(B) trapping high frequency waves entering into the generator/trans former unit
(C) both (A) and (B)

(D) none of the above

Which of the following relays comes into operation in the event of failure of prime mover

connected to the generator?
(A) buchholz relay

(B) reverse power relay

(C) differential relay

(D) all of the above

The use of high speed circuit breakers
(A) improves the system stability

(B) increases short circuit current

(C) reduces short circuit current

(D) decreases system stability

Causes of low power factor are

(A) Induction motors and arc lamp loads

(B) generating equipments during low loads

(C) Industrial heating furnaces and arc furnaces
(D) Both (A) and (C)

In communication system, modulation is a process of
(A) improving frequency stability of transmitter

(B) combining signal and radio frequency wave

(C) generating constant frequency radio waves

(D) reducing distortion in RF waves

Amplitude modulation is used for broadcasting because

(A) it is more noise immune than other modulation systems

(B) compared with other modulation systems, it requires less transmitting power
(€) its use avoids receiver complexity

(D) no other modulation system can provide necessary bandwidth for high fidelity
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066.

067.

068.

069.

070.

071.

In frequency modulation

(A) the frequency of the carrier remains constant
(B) the amplitude of the carrier remains constant
(C) the amplitude of the carrier is varied

(D) the frequency of the signal is made equal to the carrier frequency

Three phase alternators are invariably star connected because
(A) higher terminal voltage is obtained

(B) less turns of wire are required

(C) small conductors can be used

(D) magnetic losses are minimum

A synchronous motor can develop synchronous torque
(A) when underloaded

(B) when overexcited

(©) only at synchronous speed

(D) below or above the synchronous speed

An ideal current source has zero

(A) internal conductance

(B) internal resistance

(C) voltage on no load

(D) ripple

The starting torque in case of a centrifugal pump is generally
(A) less than the running torque

(B) same as the running torque

(C) slightly more than the running torque

(D) double the running torque

In case of 600 Volt DC line for tramcars, the track is connected to
(A) positive of the supply

(B) negative of the supply

(C) mid-point of 300 Volts

(D) none of the above
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072.

073.

074.

075.

076.

077.

078.

Which of the following locomotive requires least maintenance?
(A) Steam locomotives

(B) Diesel locomotive

(C) Electric locomotives

(D) Equal in all of the above

In case of 25 kV single phase power system, what is the value of supply frequency?
(A) 60 Hz (B)/50Hz
(C) 25 Hz (D) 16.66 Hz

Power for lighting in passanger coach in long distance electric train is provided
(A) directly through overhead electric line

(B) through individual generator of bogie and batteries

(C) through rails

(D) through locomotives

In which of the braking method, the armature of the motor remains connected to the supply and
produces torque opposite to the motion by drawing power from it ?

(A) Rheostatic braking

(B) Regenerative braking

(©) Plugging

(D) None of the above

In case of AC motor circuit, static frequency changers are used for
(A) power factor improvement

(B) improvement in cooling

(C) reversal of direction of rotation

(D) speed regulation

When quick speed reversal is a consideration, which one of the following motor is preferred?
(A) Synchronous motor

(B) Squirrel cage Induction motor

(C) Wound rotor-type induction motor

(D) DC motor

A wound rotor induction motor is preferred over a squirrel cage induction motor, when the
major/consideration/considerations is/are

(A) large starting torque

(B) low starting current

(C) speed control for limited range

(D) all of the above
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079. Proximity effect is due to the current flowing in the
(A) earth (B) sheath
(C) neighbouring conductor (D) all of the above
080. In an inverse definite time electromagnetic over current relay, the minimum time feature is

achieved because of
(A) saturation of the magnetic circuit
(B) proper mechanical design
(C) appropriate time delay element
(D) electromagnetic damping
081. In order to attain speed higher than the rated speed for the DC shunt motor, which of following
methods is used?
(A) Armature resistance control
(B) Armature voltage control -
(C) Field resistance control
(D) none of the above

082. In order to save energy during braking, which of the following method is used?
(A) mechanical braking
(B) plugging
(C) regenerative braking
(D) dynamic braking

083. The motor commonly used in computers and digital systems is

(A) DC shunt motor (B) induction motor

(C) synchronous motor (D) reluctance motor
084. The efficiency of a commercial solar cell lies in the range

(A) 0-10% (B) 10-20%

(C) 20-30% (D) 50-60%

085. The energy associated with a photon is
(A) directly proportional to wavelength
(B) inversely proportional to frequency
(C) directly proportional to intensity of radiation
(D) inversely proportional to wavelength

086. The main advantage of using fractional pitch winding in an alternator is to reduce
(A) amount of copper in the winding
(B) size of the machine
(€) harmonics in the generated emf
(D) cost of the machine
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087.

088.

089.

090.

091.

092.

093.

094.

At maximum power point of the solar cell
(A) current is maximum

(B) voltage is maximum

(C) both voltage and current are maximum

(D) the product of voltage and current is maximum

If no load is connected to solar PV system

(A) it will stop absorbing light

(B) it will dissipate energy in the panel and increase its temperature
(C) its voltage will go on increasing till its breakdown

(D) it will start reflecting the light

Equalizer circuits are provided across each SCR in series operation to provide uniform
(A) current distribution

(B) voltage distribution

(C) firing of SCRs

(D) all of the above

When an induction motor is switched on, the rotor frequency is
(A) zero (B) 60 Hz
(C) same as slip frequency (D) same as supply frequency

The range of wind speed suitable for wind power generator is
(A)0to5mis (B) 5 to 25 m/s

(C) 25 m/s to 50 m/s (D) 50 m/s to 75 m/s
The SCR is turned off when the anode current falls below the

(A) forward current rating

(B) breakover voltage

(©) holding current

(D) latching current

If the velocity of wind is doubled, the power output of the wind turbine will be
(A) reduced to half (B) doubled
(C) increased 8 times (D) increased 6 times

DC series motors are best suited for traction because

(A) torque is proportional to the square of the armature current and speed is proportional to
the torque

(B) torque is proportional to the square of the armature current and speed is inversely
proportional to the torque

(C) torque and speed both are proportional to the square of the armature current
(D) none of the above
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09s. In a horizontal axis wind turbine, the gear box is located
(A) at the ground in the control room
(B) at the bottom of the tower
(C) at the top of the tower

(D) inside and in the middle of the tower

096. Biogas is predominantly
(A) hydrogen
(B) carbon monoxide
(C) oxygen
(D) methane

097. When ambient temperature of biogas plant decreases below 20°C

(A) the gas production increases
(B) the gas production first increases and then decreases
(C) the gas production decreases

(D) remains unaltered

098. Which one of the following statements is not true for a micro hydro scheme?
(A) It has a capacity less than 100 kW
(B) It is used where a grid does not exist.
(C) Power is generated for local use only

(D) Complicated and sophisticated control scheme is used

099. An induction generator controller (IGC), controls
(A) only the voltage and not the frequency
(B) only the frequency and not the voltage
(C) both the voltage as well as frequency

(D) the power input to the generator

100. In which year Gujarat state Government has announced wind solar hybrid policy?
(A) 2018 (B) 2019
(C) 2020 (D) 2021

101. Which of the following power plants has the minimum operating cost?
(A) diesel plant (B) steam plant
(C) nuclear plant (D) hydro-electric power plant
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102.

103.

104.

105.

106.

107.

108.

Large sized steam plants and nuclear plants are suitable for
(A) base load

(B) peak load

(C) intermittent loads

(D) both base and peak load

The load factor of a power plant is given by
(A) average load/peak load

(B) peak load/average load

(C) average load/connected load

(D) average load/base load

A generating unit has an incremental production cost of Rs. 60 per MWh. If the penalty factor
for this unit is 1.2, the incremental cost of power delivered is

(A) Rs. 50 per MWh (B) Rs. 72 per MWh
(C) Rs. 61.2 per MWh (D) Rs. 58.8 per MWh

Which of the following slows down fast neutrons in a nuclear power plant?
(A) Coolant (B) Reflector
(€) Moderator (D) Fuel rod

Aload curve is a plot of
(A) load versus generation capacity (B) load versus current

(©) load versus time (D) load versus cost of power

In a high head hydroelectric power station, a surge tank is provided to

(A) reduce the length of penstock

(B) control pressure variations in the penstock due to sudden load changes
(C) augment water at forebay

(D) control the water flow through turbine

The function of economiser in a thermal power plant is to
(A) heat up the incoming water by super heated steam
(B) heat up the pulverised fuel by exhaust gases

(C) heat up the incoming air by exhaust gases

(D) heat up the incoming water by exhaust gases
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109.

110.

111.

112.

113.

114.

115.

Which of the following will take least time in starting from cold conditions to full load?

(A) Nuclear power plant (B) Steam power plant
(C) Hydro-electric plant (D) Gas turbine plant

Spinning reserve is

(A) the reserve generating capacity which is available for service but not in operation

(B) the reserve generating capacity which is connected to the bus and ready to take the load

(C) the reserve generating capacity which is in operation but is not in service
(D) none of the above

An SCRis

(A) three layer three terminal device
(B) three layer four terminal device
(C) four layer three terminal device

(D) four layer four terminal device

After triggering an SCR, the gate pulse is removed. The current in the SCR will
(A) remain the same

(B) immediately fall to zero

(C) slightly reduce

(D) initially increase and then fall to zero

The triac is equivalent to

(A) two SCRs connected in parallel

(B) two SCRs connected in anti-parallel

(C) one SCR, one diode connected in parallel

(D) one SCR, one diode connected in anti-parallel

Which of the following statement is not correct in regard to UJT?
(A) it exhibits negative resistance

(B) it is operated with emitter junction reverse biased

(C) it has no ability to amplify, while it has ability to control a large AC power with a small

signal
(D) it has one PN junction and three leads

Holding current of a thyristor is
(A) equal to latching current

(B) more than its latching current
(€) less than its latching current

(D) either more or less as no relation exists between holding current and latching current
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116.

117.

118.

119.

120.

121.

122.

123.

A single phase fully controlled bridge rectifier supplies an inductive load. If the maximum
supply voltage is Em and firing angle is o, the average output voltage assuming constant output
current would be

(A) (Em/2r)cosa (B) (Em/m)cosa

(C) (Em2/mt)cosa. (D) (2Em/r)cosa

Which device converts alternating voltage at supply frequency directly to an alternating voltage
at load frequency without any intermediate DC stage?

(A) Chopper (B) McMurray inverter

(C) DIAC (D) Cycloconvertor

For thyristors, pulse triggering is preferred to DC triggering because
(A) gate dissipation is low

(B) pulse system is simpler

(C) triggering signal is required for a very short duration

(D) all of the above

For a single phase, phase controlled rectifier, with a freewheeling diode across the load
(A) the instantaneous output voltage v is always positive

(B) vo may be positive or zero

(C) vo may be positive, negative or zero

(D) vy is always negative or zero

The function of a snubber circuit connected across an SCR is to

(A) supress dv/dt (B) increase dV/dt

(C) reduce dl/dt (D) keep transient overvoltage at constant value
An AC current given by i = 14.14sin(wt + 1/6) has an rms value of _ amperes

(A) 10 (B) 14.14

(C)1.96 (D) 7.07

The reactance offered by a capacitor to alternating current of 50 Hz is 10ft. If the frequency is
increased to 100Hz, reactance becomes  ohms

(A) 20 (B)5

(C)25 (D) 40

During resonance in series R-L-C circuits, the impedance is equal to the
(A) resistance (B) inductive reactance

(C) capacitive reactance (D) admittance
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124,

125.

126.

127.

128.

129.

130.

The voltage and current in an AC circuit are 230/0° and 100/30° respectively. The circuit will
be

(A) resistive (B) inductive

(C) capacitive (D) in resonance

In a single phase series R-L circuit, the voltage across the resistor is S0V and that across the

inductor is 120V. The supply voltage would be

(A) 170V (B) 70V

(C) 150V (D) 130V

Which of the following is true for parallel resonance in AC circuits?

(A) Current is minimum and power factor is zero

(B) Current is maximum and power factor is zero -
(€) Current is minimum and power factor is unity

(D) Current is maximum and power factor is unity

In the power measurement by two wattmeter method in 3-phase AC circuit, if one wattmeter
measures the total power and the other wattmeter indicates zero reading, then power factor of
the circuit is

(A)0.5 (B) 1.0
(C) zero (D) 0.866

Which of the following is true for delta connected circuits in a 3-phase system?

(A) Line currents and phase currents are same

(B) Line voltages are 1.732 times phase voltages

(C) Line currents are 1.414 times phase currents

(D) Line voltages and phase voltages are same

Three identical resistances each of 15 Q are connected in delta across a three phase balanced
400V supply. The value of resistance in each leg of the equivalent star connected load would be
(A)15Q (B) 45 Q

©)5aQ (D)75Q

An AC source supplies a load that is 10 kW (resistive), 15 kVAR (capacitive) and 22 kVAR
(inductive). The apparent power is

(A) 24.24kVA (B)12.21 kVA

(C) 16.82 KVA (D) 47TkVA
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131.

132.

133.

134.

135S.

136.

137.

138.

“In a network of linear resistances containing more than one source of emf, the current which
flows at any point is the sum of all the currents which would flow at that point if each source was
considered separately and all other sources replaced for the time being by resistances equal to
their internal resistance” is a statement of

(A) Superposition theorem (B) Maximum power transfer theorem
(C) Reciprocity theorem (D) Norton’s theorem

A conductor from which tappings are taken for supplying the consumers is called a
(A) feeder (B) service main

(C) distributor (D) tapper

According to KVL, the algebraic sum of all the IR drops and emfs in a closed loop of a network
is always

(A) zero (B) positive

(C) negative (D) determined by battery emfs
It is desirable that voltage regulation of a transmission line should be

(A) high B) low

(C) 90% (D) infinite

The corona effect is

(A) The air surrounding the conductor becomes conducting and as a result, the virtual diameter
of the conductor is decreased

(B) The air surrounding the conductor is unaffected and there is no change in the virtual
diameter of the conductor

(€) The air surrounding the conductor becomes conducting and as a result, the virtual diameter
of the conductor is increased

(D) The air surrounding the conductor is unaffected but, there is a decrease in the virtual
diameter of the conductor

For transfer of maximum power, the relation between the load resistance R, and the internal
resistance R; of the voltage source is

(A) RL=2R; (B) R_=0.5R;
(C)R_=15R; (DR, =R,

In 8051, if register A contains ASH, then after execution of “RR A” instruction, register A will
contain

(A)D2H (B) A6H

(C) A4H (D) D7H

Which of the following instruction represents bit jump in 8051?
(A) CINE (B) DINZ

(C) INZ (D) INB
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139. In a transmission line, the effect of the line capacitance to cause the no-load receiving end voltage
to be more than sending end voltage is known as

(A) Ferranti effect (B) Proximity effect
(C) Skin effect (D) Corona effect

140. The ABCD constants of transmission line are expressed in terms of hyperbolic sine and cosine
for

(A) short line model

(B) medium length line model

(©)long line model

(D) medium length line which is shortcircuited at the receiving end

141. Stringing chart is useful for

(A) finding sag in the conductor
(B) design of transmission line tower
(C) design of insulator string

(D) finding distance between the towers

142. The voltage of a particular bus can be controlled by controlling the
(A) phase angle
(B) reactive power of the bus
(C) active power of the bus

(D) phase angle and reactive power

143. Skin effect is the tendency of the alternating current to concentrate
(A) near the surface of the conductor
(B) at the centre of the conductor
(C) uniformly over the conductor cross section
(D) no current through the conductor
144. In order that the voltage drops are equal in all the conductors, generally the position of the
conductors is interchanged at regular intervals along the line such that each conductor occupies

the original position of every other conductor over an equal distance. This exchange of conductor
positions is called

(A) deposition (B) transposition

(C) transition (D) trans-spacing
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145, The insulation of modern EHV lines is designed based on

(A) lightning voltage (B) corona

(C) radio interference (D) switching voltage
146. Bundled conductors in EHV transmission system provide

(A) reduced capacitance

(B) increased capacitance

(C) increased inductance

(D) increased voltage gradient

147. The most economical size of a conductor is determined by
(A) Kelvin’s law
(B) Maxwell’s law
(C) Stoke’s law
(D) Faraday’s law

148. Which of the following distribution system is the simplest and has lowest installation cost?
(A) interconnected system
(B) radial system
(C) ring system
(D) tapered system
149. Transmission efficiency increases as
(A) both voltage and power factor increase
(B) both voltage and power factor decrease
(C) voltage increases but power factor decreases
(D) voltage decreases but power factor increases
150. The charging current in a transmission line
(A) lags the voltage by 90°
(B) leads the voltage by 45°
(C) leads the voltage by 90°
(D) is in phase with voltage
151. The air gap in an alternator, as compared to an induction motor is
(A) much shorter (B) much longer

(C) about the same (D) zero
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152. To achieve the optimum transient response, the indicating instruments are so designed to
(A) be critically damped
(B) be undamped
(C) provide damping which is slightly more than the critical value

(D) provide damping which is slightly less than the critical value

153. Which one of the following meters is an integrating type instrument?
(A) Ammeter
(B) Voltmeter
(C) Wattmeter
(D) Energy meter

154, A moving coil galvanometer is made into a DC ammeter by connecting

(A) a low resistance across the meter
(B) a high resistance in series with the meter
(C) a pure inductor across the meter

(D) a capacitor in series with the meter

155. Swamping resistance is a resistance which is added to the moving coil of a meter to
(A) reduce full scale current
(B) reduce the temperature error
(C) increase the sensitivity

(D) increase the field strength

156. Suppose the potential coil and current coil of a wattmeter are changed accidently and supply is
given, then

(A) wattmeter will continue to read normally
(B) current coil will burn out
(C) potential coil will bum out

(D) both current coil and potential coil will burn out

157. Holes are drilled on the opposite sides of the disc of an induction type energy meter to
(A) avoid creep on no load
(B) balance the disc
(C) dissipate the energy due to eddy currents

(D) increase the deflecting torque
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158.

159.

160.

161.

162.

163.

164.

Two equal voltages of same frequency applied to the X and Y plates of a CRO, produce a circle
on the screen. The phase difference between the two voltages is

(A)0° (B) 60°

(€)90° (D) 180°

Two voltmeters of 0-300V range are connected in parallel to an AC circuit. One voltmeter is
moving iron type and reads 200V. If the other voltmeter is moving coil type, its reading will be
(A) 200/3 (B) 200/2

(C) slightly less than 200 (D) zero

The scale of a voltmeter is uniform. Its type is
(A) moving iron

(B) induction

(€) moving coil permanent magnet

(D) moving coil dynamometer

In a large synchronous generator, the damper winding is provided for
(A) above synchronous speed only

(B) below synchronous speed only

(C) both above and below synchronous speed

(D) none of the above

In a large synchronous alternator, which of the following coils will have emf closer to sine
wave form

(A) concentrated winding in full pitch coils

(B) concentrated winding in short pitch coils

(C) distributed winding in full pitch coils

(D) distributed winding in short pitch coils

In an induction motor, if the air gap is increased, its
(A) speed will reduce

(B) power factor will decrease

(C) efficiency will improve

(D) speed will increase

The power input in a blocked rotor test performed on 3-phase induction motor is approximately
equal to

(A) iron loss in the core

(B) hysteresis loss in the core

(C) eddy current loss in the core

(D) copper loss in the windings
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165. In a double squirrel cage induction motor, the outer cage winding has
(A) high inductance
(B) low resistance
(©) high resistance
(D) high capacitance

166. Which of the following is not an essential condition for parallel operation of alternators?
(A) identical terminal voltage for the two machines
(B) same phase sequence for the two machines
(€) same kVA rating for the two machines

(D) same frequency of voltage generated

167. A reluctance motor runs at
(A) synchronous speed
(B) slightly less than synchronous speed
(C) approximately at half of synchronous

(D) above the synchronous speed

168. The type of single phase induction motor having the highest power factor at full load is
(A) shaded pole type
(B) split phase type
(C) capacitor start type
(D) capacitor run type
169. In a 3-phase induction motor, the torque developed is maximum when the rotor circuit resistance
per phase is equal to
(A) rotor leakage reactance per phase at standstill
(B) slip times the rotor leakage reactance per phase at standstill
(C) stator resistance per phase

(D) stator leakage reactance per phase

170. A 4-pole, 50 Hz induction motor runs at a speed of 1440 rpm. The frequency of the rotor

current is
(A)3Hz (B) 25 Hz
(C)1Hz (D) 2 Hz

[AVF-2] [PT.O. E


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


171. The rotor slots are slightly skewed in squirrel cage induction motor to
(A) increase the strength of rotor bars
(B) reduce the magnetic hum and locking tendency of rotor
(C) economise on the copper to be used

(D) provide ease of fabrication

172. If the field of a synchronous motor is underexcited, the power factor will be
(A) lagging
(B) leading
(C) unity

(D) depending upon the type of synchronous motor

173. Slip test in a synchronous machine is performed to determine
(A) slip
(B) direct axis reactance and quadrature axis reactance
(C) positive sequence reactance and negative sequence reactance
(D) sub-transient reactance

174. On a transmission line, whenever the conductors are dead ended or there is a change in the
direction of the transmission line, the insulators used are of
(A) strain type
(B) pin type
(C) suspension type
(D) none of the above

175. In order to have a lower cost of electrical energy generation,
(A) load factor and diversity factor both should be low
(B) load factor should be low and diversity factor should be high
(C) load factor should be high and diversity factor should be low
(D) load factor and diversity factor both should be high

176. The short circuit current of solar cell is
(A) inversely proportional to radiation intensity
(B) directly proportional to radiation intensity
(C) inversely proportional to square of radiation intensity

(D) constant and not affected by radiation
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177. An MPPT is basically a
(A) a DC - DC switching regulator
(B) an AC - DC converter
(C) aDC - AC inverter

(D) an amplifier

178. A grid interactive solar system
(A) always supplies power to the grid
(B) supplies power to the grid as well as receives power from the grid as required
(C) always receives power from the grid

(D) works only when the grid fails

179. As per Betz criterion, the maximum energy extractable by an ideal wind turbine is -
(A) 29% of that available in the wind
(B) 39% of that available in the wind
(C) 49% of that available in wind
(D) 59% of that available in wind

180. Cut-in velocity in a wind power machine is
(A) the maximum wind speed at which wind turbine is designed to come into operation
(B) the minimum wind speed at which wind turbine is designed to come into operation
(C) the speed at which wind turbine stops functioning

(D) the velocity of the rotor

181. If the band gap of solar cell material increases, then
(A)its open circuit voltage increases
(B) its open circuit voltage decreases
(C) its open circuit voltage remains unchanged
(D) its reverse saturation current increases
182. Which of the following methods of speed control is widely used in small to medium sized wind
turbines?
(A) Pitch control
(B) Stall control
(C) Yaw control
(D) No control
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183.

184.

185.

186.

187.

188.

Which type of wiring is preferred mainly for godowns and workshops where economy is not the

prime factor?

(A) Conduit wiring

(B) TRS wiring

(C) Wooden casing and Capping wiring
(D) Cleat wiring

Which of the following is a desirable property of fuse element material?

(A) High melting point
(B) High resistivity
(€) Small coefficient of expansion

(D) High ohmic loss

In which of the following industries, “Bagasse” is produced and used as fuel to satisfy energy

requirement?

(A) Textile Industry

(B) Iron and steel industry
(C) Cement Industry

(D) Sugar industry

The insulation resistance of a domestic wiring is to be measured. The instrument preferred is

(A) Kelvin’s double bridge
(B) Ohm-meter
(C) Potentiometer

(D) Megger

A wattmeter measures  power.
(A) Instantaneous

(B) Apparent

(C) Reactive

(D) Average

To compensate for temperature changes,
(A) strain gauge is reversed

(B) dummy strain gauge is used

(C) strain gauge is applied on insulation

(D) strain gauge of smaller value is used
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189.

190.

191.

192.

193.

194.

195.

196.

Which of the following can be used for measuring magnetic flux density?
(A) LVDT

(B) synchro

(€©) hall effect transducer

(D) thermocouple

Pyrometer is used to measure

(A) strain

(B) pressure

(C) displacement

(D) temperature

An equipment/facility is considered to be energy inefficient if

(A) both energy quantity index and energy quality index, are low
(B) energy quantity index is high and energy quality index is low
(C) energy quantity index is low and energy quality index is high

(D) both energy quantity index and energy quality index are high

Which of the following industry has highest potential of cogeneration in India?
(A) Petrochemicals (B) Sugar
(C) Polyester fibre (D) Rice mills

Candela is the unit of which of the following?
(A) Wavelength (B) Luminous intensity

(C) Luminous flux (D) Frequency

The filament of a GLS (General Lighting Services) lamp is made of

(A) tungsten (B) copper

(C) carbon (D) aluminium

Carbon arc lamps are commonly used in

(A) photography (B) cinema projectors

(C) domestic lighting (D) street lighting

A 60 W lamp, given a luminous flux of 1500 lumen will have an efficiency of
(A) 1500 lumen/watt (B) 250 lumen/watt

(€) 25 lumen/watt (D) 2.5 lumen/watt
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197.

198.

199.

200.

The level of illumination on a surface least depends on
(A) candle power of the source

(B) distance of the source

(C) type of reflector used

(D) ambient temperature

In electric discharge lamps, light is produced by
(A) cathode ray emission

(B) ionisation in a gas or vapour

(C) heating effect of current

(D) magnetic effect of current

The flicker effect of fluorescent lamps is more pronounced at
(A) lower voltages

(B) higher voltages

(C) lower frequencies

(D) higher frequencies

In case of power factor is the highest.
(A) GLS lamps

(B) mercury arc lamps

(C) tube lights

(D) sodium vapour lamps
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